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CEHES o2 AN TA+Y
2% 6,480,008 6,480 7,200 AT20
301 YerE A3 1,350 1,500 A 150
09 BAAHI 2 A2 1,350 1,500 A 150
Ool2st 2X LA OlHI 24
23 1,350,0008 1,350 1,500 A 150
18 2 2ge 299,296 262,041 37,255
AANHEE FASYBL 273,138 233,421 39,717
201 Yete2 | 81,362 85,221 13,859
01 Ak 22l 10,917 12,130 A1,213
O1 ger4+2t] 10,917 12,130 A 1,213
>EANSY S| 23 2,000,0009 2,000 2,400 £400
DM (2R S40) 23 931,000 931 1,000 £69
PEI oM BN ZH 3,456,0008 3,456 4,200 AT44
02 B2l 70,445 73,091 £2,646
O1zzez2 ¥ HMA 23,814 26,460 ~2,646
> &2 3 22,554,000 22,554 25,200 £2,646
206 T E H 9,180 10,200 A 1,020
01 HEHI 9,180 10,200 A 1,020
OFIISE(HAHOIZ 23 900,000 900 1,000 A100
CETISIF ] 23 900,0002 900 1,000 A100
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O3XJ| BEHAY(GI=EH )
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>EAA ALK 3 7,308,008 7,308 8,000 £692
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= 5,000 0 5,000
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= 5,000 0 5,000
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01 AR 22| 15,443 7,158 A1,715
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PURAY B 2ABL MH
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02 B2 5,016 16,684 ~1,668
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UEAAASHED D MT
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=2l 17,153 18,544 £1,391
201 L2 | 5,089 5,664 AST5
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